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Across

5 Getting from 58A and 28A to 33D, 
for example (8)

8 Like 20A, 33A, 38D, and 41D, but 
not like 1D, 9D, 19A, 27D, 28A, 
28D, 33D, 35A, 36D, 42D, 46D, 
49A or 58A (4)

11 28A is a convenient one for doing 
34D (4)

13 41D or 38D (3)

14 Like 19A, 38D, 41D, 42D, and 46D,  
but not like 1D, 9D, 20A, 27D, 28A, 
28D, 33A, 33D, 35A, 36D, 49A, and 
58A (6)

16 Any of 1D, 9D, 19A, 20A, 27D, 
28A, 28D, 33A, 33D, 35A, 36D, 
38D, 42D, 46D, 49A,  58A, but not 
41D (4)

17 In 5A (3)

18 6D (5)

19 14A of 28A (7)

20 28D 23D 1D or 35A 26D 28D (5)

23 Like 1D, 28D, 35A, 36D, 49A, and 
58A, but not like 9D, 19A, 20A, 
27D, 28A, 33A, 33D, 38D, 42D, or 
46D (5)

24 46D of 15D; like 9D, 19A, 20A, 
27D, 28A, 33A, 33D, 41D, 46D, and 
58A, but not like 1D, 28D, 35A, 
36D, 38D, 42D, and 49A (4)

25 Now and then, when between 58A's, 
it has the same effect as 23D (5)

28 38D 23D 42D, or 35A 26D 38D (3)

30 Part of 2D, or all of 2D for example 
(3)

31 A collection of 16A (3)

32 5A (5)

33 28A 25A 19A (8)

35 36D 26D 20A (6)

37 Having 58A 56A out of 28D (9)

39 43A (5)

40 33D (5)

43 31A of 41D (4)

45 As 38D is to 58A, or as 58A is to 
46D, or as 46D is to 20A, or as 28D 
is to 27D (4)

47 One that is not 24A (6)

48 38D, then this, then 58A, makes a 
45A (4)

49 58A 23D 1D (5)

50 A 6D of these could make 58A or 
35A (4)

52 31A of 28D (6)

54 18A (6)

56 As 58A 23D 28D or 35A 26D 27D is 
to 1D (5)

58 27D 48A 28D (3)

60 Any of 1D, 9D, 19A, 20A, 27D, 
28A, 28D, 33A, 33D, 35A, 36D, 
38D, 41D, 42D, 46D, 49A, and 58A 
(7)

63 With a 19A 22D (10)

64 As 58A is to 38D, 58A and 28D ---
or as 35A is to 38D, 35A and 36D 
(6)

65 Very small, like 21D (5)

Down

1 28A 48A 58A (4)

2 Number 42D (5)

3 38D (3)

4 For example, change from 42D to 
20A to 49A to 27D to 1D.... (3)

6 31A of 58A (3)

7 33D (4)

9 20A 25A 28A (6)

10 It has 28D 22D (4)

11 20A 13A's (4)

12 Spanish 27D (4)

14 25D (4)

15 Level headed, thinking of 9D, 19A, 
20A, 27D, 28A, 33A, 33D, 41D, 
46D, and 58A, but not 1D, 35A, 

36D, 38D, 42D, and 49A (10)

16 23D, 25A, 26D, or 54A (4)

21 Those over 33D but not over 36D (5)

22 Certain combinations of 33D (4)

23 A 16D (4)

25 1D playing basketball or 42D playing 
baseball (4)

26 A 16D (5)

27 28D 25A 58A (3)

28 27D 48A 58A (5)

29 41D (4)

33 1D 23D 49A or 36D 26D 49A or 
28D 25A 46D (6)

34 What you have to be good at to solve 
this puzzle (10)

36 42D 23D 28A (8)

38 38D 25A 38D (3)

39 Perform 5A ((3,2))

40 What to do if you've got 33D and 
46D, but you want 28D (6)

41 41D 23D 41D; don't 40D by it! (4)

42 46D 23D 1D, or 28D 25A 28D (4)

44 One with 27D 14D's (3)

46 20A 48A 58A (4)

49 The result of 5A (3)

51 Adjoining, like 28D and 46D or 28A 
and 35A (4)

52 49D (5)

53 Apparently 33A 23D 38D (4)

54 33A --- it's great (5)

55 58A can be this with much in 
common (2,1,3)

57 One of 1D (5)

59 48A; 58A 25A instead of 38D; in 5A 
(5)

61 It's cold, but if it were moreso it 
could be 1D, 9D, 19A, 20A, 27D, 
28A, 28D, 33A, 33D, 35A, 36D, 
38D, 41D, 42D, 46D, 49A, or 58A 
(4)

62 Call 41D (4)

63 French 1D (4)


